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Instructions : (1) All questions carry equal marks in Section — 1.

(2) Attempt any two questions in Section — 1.
(3) Question 5 in Section — II is Compulsory.

SECTION -1

1.  (A) Explain following : 5
(1) Recurring task
(2) Milestone tasks
(3) Deleting, Inserting task
(4) Copying task
(5) Task Duration

(B) Where is MS Project tool used ? Draw a neat diagram of MS Project window
and explain components of it. 5

2. (A) What do you mean by Schedule Pass ? Explain “Forward Pass and Backward
Pass” in MS Project. 5

(B) Explain "Types of Relationships" in MS Project. 5

3. (A) Explain various predefined calendars available in MS Project. Draw a neat
labelled diagram of calendar dialog box and explain its components. 5

(B) Explain “Constraint’s Types” in MS Project. How constraints can be applied on
Tasks ? 5

4.  (A) What do you mean by “Tracking” of project ? Why is it important to track a
project ? 5

(B) Draw a neat diagram of "Project Statistics" dialog box and explain components of
it. 5

AM-102 3 P.T.O.



SECTION - 11

5. Choose the correct answer. (Any five)

(1) All tasks by default is given a value of 500 for priority, you can assign a value
from to .
(a) 0,1000 (b) 0,10000
(c) —500to 1000 (d) None of these

(2) Full form of CPM is .
(a) Critical Path Method (b) Critical Project Method
(¢) Crucial Path Method (d) None of these

3) is any task which takes place in a time before a given task.
(a) Predecessor (b)  Successor
(c) Both (a)and (b) (d) None of these

“4) A is used to signify the beginning or ending of a group of related tasks.
(a) Recurring Task (b) Milestone Task
(c) Default Task (d) None of these

(5) To calculate the LS, MS Project will use the following formula
(a) LS=LF —Dur +1 (b) LS=LF+Dur+1
(c) LS=LF-Dur-1 (d) None of these

(6) is /are the levels where you can assign calendar in MS Project.
(a) Project Level (b) Task Level
(¢) Resource Level (d) All of these

(7) calendar works from Monday to Saturday from 23:00 to 8:00 and there is
a break of one hour from 3 : 00 to 4 : 00.
(a) Night Shift (b) Standard
(c) 24 Hours (d) None of these

(8) Free Slack can be equal to Total Slack, and can be different.
(a) True (b) False

(9) Default Scheduling mode is .
(a) Manually (b) Automatic
(c) Both Manually and Automatic (d) None of these

(10) To see the effect of the scheduling, you can use views and tables.
(a) Network Diagram View (b) Detailed Diagram View
(c) Timeline View (d) All of these
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